FDI E INSTRUMENT PROCESSING SHEET
agency _Florids Highilay Patrol Troop L /N
Alcohal Testing Program gency 700 d
Date In 3[ 30/ 2012 Date Out_ld_lﬂ_]_?_ Qship .WP/U QH/0 QcMi QEE
Cintake __ Performed By DERR | Quality Chacks “Performed By DEQL | Flow Calibration Performed By
@ Registration , g’}reathTube Screen & Flow Calibration N/A
; R | @ Flow Calibration Com?@‘

eplace O-Rings
Flow Celumn #

Annual
O Return from CMI Instrument Set Up Verified &
@ Return from Enforcement E/R-Value 244 Q su/min- 17"’@/& N/ 5, ’

" Electronics Flow Verification (L/s) Q 15L/rﬁbj5- 53 S
Q other ___ Flow Column #_ATP 101 0 30umin<; 12%:{;? g’(/;
Visual Inspection: . 32mm. g5 (139-.169) [ Q R-Value S 7

Case _ OK_Handle ‘ 36mm 12 (156 -.190) 0O Post Calibration Ver;ff’oe!ion (L/s)
OK_ Dry GasHolder _OK Feet " 53mm .24 (.228-.278) Flow Column #
OK_Keyboard/Plug _OK Back/Plugs CB/ 103mm <603 (447 -.547) 32mm ( 15{9-- .169)
0 screws tight _OK_Breath Hose Barometric Pressure Check . 36mm (156 -.190)

7 ﬂ)auge’ ID#_&¥639 53mm (:228-.278)
Other Equipment: Stability Checks S : 103mm (447 - .547)
Q Power cord “simufator | Serfal # | Lot #/Exp
O Printer Cable 0.05 503963 201L03D | | Maintenance Performed By
Q Other ' _ QO Battery Replacement
0.08 $0354¥ 201,01 F El_ Dry Gas Regulator Replacement
01124218 g gr;ath Tube Replacement
Notes: 0.20 : o ther
: _ 5023569 _g_j'!dl‘if.'_. —— .“, ,
- || 0.08 DGS NA - |[REGAL60S
E 2a{2018

TEZL | Department Inspection -~ Performed 8y DELL |
_ Barometric Pressure 1022 Gauge

(@ Optical Bench Calibration Complete io# QARG 1020 _ __ Instrument |-

o# 2199 -

Barometric Pressure Gauge
Simulator - | Serial Numiber | £6¢ Nimber .| Expleation - | | Mouth Alcahol Solution Lot # _ 20/l
Acetone Stock Solution Lot #

Optical Bench Calibration N/A

0.000 A5 - IN/A N/A ‘
Go | 2105 [bI0] _|Gajoal[s | |(malster ol R

0.100 | 2ad7 iS00t 0512017 | Interferent ~ 5?)%‘;'{‘2

0.200 3233 . | IS0y 05/22/17_| (0.0 50 3&%3

0.400 23.34. 16102 03)22/18 || [0.08 Is '

0.080 DGS N/A 2441,030A3. 02/os ] 9]0 , - 5034445
ﬂ Post Calibration Stability Checks ,

simulator | Serfal Number™ | Lot Number | Expiration | | ['Attachmants . =~ "~ ~ - - ¢ BT e g
0.05 $0 3663 201030 __|03)o%/20)% @ Form 41 @ Optical Bench Cal

0.08 S0 296% .Q_‘? 0| F 0l /35 QQ Ig Q/Pre Stability Tests @ Post-Stability Tests .
0.20 503905 |20lwdC | 04jostaoig] || 3 o e ey

0.08DGS | N/A AL oS~ _| 09/a3fa0l¥ :

‘Instrument Complles with € Chapm 110-8; FAC . :

D )nsttumant Ddes ot Campty wuh c&apter 119-8. FAC

L////[ 20[7
MMMﬁWI T Retomn tofPlace infa identiary Use
g /len“owaﬁvldenﬂ:w:

/Lr Ok L ((m 4 /, 015 3 "WConductanucncvlmpccﬂonldorc!v!denﬂaryvu :

LS

T LE
v » Date

O Quality Control Review .
Revised November 2012




W)

Y
<)

. i d

anzebis m‘MEmg N admeubls s, fojeuady amedls s ojedy a.meuBls §,038.800
LeL'n - (aneq s [y 6T N8 IS 12y 000D (080 M§ 12 000D (3090 IS 18y
20000 fag 1§ 9000 ag P 00000 8g IS 0000 ag P
£640°0 ebe.any 161D abe.any 0080°0 abe jany 0150° sbesany
. 5185 1831 10JjL0) 51015 183 [0.3U0) 51016 1531 10.3U0) 53816 1531 (04300
2] 000y Welg Jig 200 009 Welg 41y (: 0°e el Jig 231 1000 Welg Jiy
St 180°0 388l 104U A0 10 1531 [0Jju0) 90440 0800 353) 10J30) 1040 1S0°0 3881 j04u0)
Ll oo Helg 1y 10 0 yelg Jiy 9:40 00 ') yelg 1y 1040 100°0 Ye1g J1g
i D 3881 103u0) 010 B0 1%L (0490 G000 I 35 100) 0o 900 383L o)
bID o' eI A1y §0:4) 0000 el Jiy b0 0o JB|g Uty 6590 000°0 JUe1g J1y
£Lid) 6070 38 104310) 60:0 B0 3% (030 o0:(0 B0 358 [05u0) 65:90 1500 3531 [043u0)
ELid) e HEE g 840 0o elg 1y £0:40 000 Welg 1y 890 0o Welg J1g
L Ties 1%L i) Mz/b EH au | 012/ 1831 aj| n12/b 158
{20018 ‘a.enjos [2°0018 :3Jem3408 {20018 ‘3.8M3408 {20018 ‘2Jem} 08
L102/11750 L102711460 L102/11/40 L1010
¢L3N0-08 NS 0108 (2004 29£300-08 1S 0008 18P0y 291900-18 K 0008 13000 290901-18 K5 0008 1800
Ja2fileuy [oyodly - Jazf] jxoju] 1azh|eug 1040y - JazR| (X3 Jazieuy [oyadly - Jazh| X0y | Jazfiteuy 104031y - Ja2fi] txy]
1 d00UL dH4 1 40041 dH 7 4004l o “, 7 d00L dHd
_
€80°0 01 £Z0'0 902°0 01 ¥61°0 £80°0 03 ££0°0 . B
1012/280'0 $OQ 1012/30Z'0 1012/380°0 N

270 L10Z/T1/0 1 doouy o.3ed AemyBiH epliof4 79£900-08 $3131/19e1S 3504
A8 Q3INYO4Y3d aLva AINIOV | HISNNN TVIH3S 1531 40 3dAL




wo

554 5D OLNY *xxx
(000°pix1/6u) 1Sn(PY 2K un §
(000°01%[/6u) nLpy D2H un £

0201 = aJdnssald JlJdsuoleq
sermeeoae 53(NS3Y 350(PY O2H 589 Aug
FXRxixtiek
§95°0 = N30 01S T
2615761 = N30 QLS
0000°25h8 = 11nsay abesany
00°1S6E = pH 3]dues
00°2LbE = €4 31dues
00°EEhE = 24 3idues
00°Gzp5 = (4 ajdueg
¢ TINEHD Hexex
ERREERLLRK
628°0 = N30 015 TR
0000°%2 = N30 QU8
0000°8E1€ = 11ns3y abesany
00°p91E = bt 3)dues
00°6EIE = gh 3lduss
0072118 = 24 adues
00°/81E = [# 2[dugg
T TNGHD ok
| = P3pRISIQ “p = UBYE] Sajdues
e 1/6u 01880 = anien 314
xx 012/6 180°0 = anien [og

{5t
148

” 10000 1112 T -2
ooneg- 2o 002,
p000°0- gro  oorp

” 6000°0 BE0D UKD

_ 9000°0- e 000p !
! MWed  wed o s
! emoIsyy 114 4

i ¢ UBYJ 114 J1IRJpeng 3835 UOTIN{OS |

0p0 0050
z’o 002 !
o' 001n !
800 DD
p000°0- e’y 000g .
Wb b ek
enpisy 34 %

[ UBY] 314 13eJpeng s1e3S UaNINTOS |

8619Gh"/2 = UOIIRIN3] pJEpLELS

1691 = mmmu J8pdg puelag

{6°8621 = 3300 48R4 3514

127021 = 4397 J8pJQ 0437
8270 =mOmS IAENT =g Ms
99721 =<9y

101278 00p°0 Jo 1/6u 890871 = 1N [0S
£1°0 =m0 pIs 1N 10°0 = nag pIs
0289 = SO %

T012/8 00270 Jo 16U b256°0 = 180 10§
90 =nappIs 1Y 1000 = nag ;s
9°c =S5y

012/8 00170 Jo 1/6u 290 = 180 106
08°0 =nagpas I3y 1070 = nag PIS
Gl =50y

12/6 0b0°0 Jo 1/Bu S081°0 = (8N (05
21 = N30 pIS 1Ay 10°0 = nag IS
My =5y

01248 00070 Jo 16y 000C°0 = 180 105

(e 2 TINNGHD o

Ll
9

9/£08G°61 = uOllRING( DJepuRlg
B0°/E = 4807 JapJ) Pu03aS
91°£]G2 = $30] 43DJQ 15414
66 °¢he- = 480 JApJQ 0Js7
Sp°0 =nagpIs I3y £0°0 = nag MS
19°9 =504 %
012/6 00p°0 Jo 1/6u 8pI6°1 = (20 105
Ip'0 =MeQpIs (34200 =nag ms
. 189 =SG%
Wiz 102°0 0 1/6u 250 = 120 105
90 = N30 PIS [y 20°0 = N30 PIS
BEETl = SGH%
T012/6 00170 Jo [/6W 29/p70 = 180 [0S
B¢ =130 DS [ €0°0 = nag ps
068°0 =504 %
T012/6 0v0°0 Jo [/8u SI61°T = [Bn (05
SL'8 = nag pIs [ay 10°0 = N3 PIS
Pl =5 %
012/ 000°0 4o [/5u §000°0 = [en 10§
<€<<< | TINNBHD >
wxxe BIHD ) OUNY weexk

:Ag

1012/3200°0-/+ 114 dfiespenp

LT0Z/TT/¥0 @1e@

/

7 dooi) dHd :Aduady

: 9£900-08 ‘NS

uopeique) jeondo |

(6EE°0F) 8£2°0 = N30 QLS T
(S£00°0) 6bED'D = N30 IS
(810°0) £899°21 = SQY % bny
(0320°0) 0829721 = ph 3idues

(U0 0249721 = £H 3dueg
(0810°0) /69721 = 24 81dues
(0v00°D) 0028721 = T4 8{dueg

RSy sy 3]dueg
€< 2 TANBHD oo

(£2bp) 2500 = 030 0L5 T
(pI0°0) PIEDD =n30 QIS
(E5£0°0) £16°9 = Sy ¥ bry
(00S0°0) 091679 = pi a1dues
(00°0)  0946°S = git Srdues

"

(0820°0)  12%°9 = 2% 3dues
(O10°0-) 0866 = 14 3|dues
sz sy 90w

ccece | TINNGHD e
12581 = Of Wng ‘09921 = 0] ung
1 = Papdedslg “p = Lave| Sajdues
w1/ 806l = anjen 31
w0+ 012/ 00p°0 = anten (03

(000°0£1) £61°0 = N30 018 1
(0410700 180070 = N30 QIS

(010°0) 61879 = S0y 5 By
(0010°0)  0£18°9 = by 3[dues
(020°D) 191879 = EH 3|dueg

(0L00°0-)  Q0£B"9 = 24 3|dues

(0L00°0-)  0s08°9 = [4 8jdues
(s st 3[dues
€eed 7 TINBHD >

(£16°80) SIp°0 = N30 OLS 13
(€510°0) £510°0 = N30 QU8
{1020y £189°c = 5G4 % by
(062070 083°€ = i Bidues

(OPE0°0)  0899°S = H 8ldues

(0500°0)  0869°E = 2k 3[dues

(000°0-) 08S9°E = [H 3[dueg

UYL Sy 3]dues
®<<< | OTNGHD

92681 = 0] ung ‘89%2! = 0] g

| = P3pURDSIQ p = UBYR) GS8]dusg

sy 1/ p2gs70 = anjen 314

wex 012/0 002°0 = anjen 105

(042°0£8) 29£°0 = N30 QLS 1
(E200°0) 1€10°0 = 030 QIS
(500°0) £p09°€ = S04 % bry
02I0°D) 0909 = ph Ardues
(000°0-)  0/19°E = g4 aldues
(0000°0) 01866 = 24 aldues
(000°0)  08SS°E = 14 8ldues
U SHL Qs 31dueg
<< ¢ TINNEHD >0

(LLL°8S) 99670 = N30 OLS 13y
(6410703 £810°0 =n3ad Qs

(5550700 086’1 = SG5 % by
(Ops0°0)  QIps’T = bh 3ldues
(0p20°0)  0866°1 = £4 Bldues
(0220°0)  0816°1 = 24 3idues

(0100°0-) 098871 = 14 3[dues

(s sy 3|0u8g
W< | TNNGHD e

LT = 0] ung ‘6/92! = O] ung

[ = papJeasig ‘b = usyel saldues

way 1/bu 28¢b°0 = anjen 314

e 012/8 001°0 = anten [og

(£4£°528) 86470 = N30 OIS 1}
(L1070 611070 = N30 0LS
(E00°0) 56471 = S04 % Bny
(0100 028b'1 = b drdues
(0000'0)  Dssb'l = gH 2ldues
(0900°-)  0S0S°T = 2H 3rdues
(0600°0-)  0igb’l = T4 ajdueg
EE R - 3]dueg
e 2 TNNGHD oo

(z620°0) £1E0°0 = N0 LS
(0590°0) £0¢8°0 = S04 2 By
(0680°0) 096D = i 3ldues

<7) (00D 0Sk°0 = g aldues
(0220°0) 02580 = 2H 3ldues
(0000°D) 04280 = [# aldues

(ECI A B 1 ) 8[0ues
€< | TINNEHD 2
BESEl = O] NG “pEYZI = 0] ung
1 = PBpJeISI ‘b = UBYE] S31dues
W 1/0u §p8T°0 = anjen 314
+xx 1012/8 0070 = angen [og

(£59°1) 280°21 = 130 OIS T3
((SS00°0) 51070 = 130 OLS
(010°0) £111°0 = say % by

(010°0) LU = bl 8)dues

(0800°0) IR0 = &4 aldues

00D 096070 = 24 Bldues

(0S00°0-) 000170 = 1% 3[dues

EE I A a[dues
<< 2 TMNBHD >

(95271S) £50°8 = N30 QLS T}
(1910°0) 160070 =030 OIS
(S1€0°0) £g01°0 = say % by
{0epi°n) 0pI1°0 = bk 3jdues
(08E0°0) 000170 = £# 37dues
(GEI0°D) 046070 = ed 31dues
(0e10°0- 068070 = 4 aidues
S L sy 2jdueg

ceeee | TINNGHD e
ST = 0] NG “SDZ2I = O] wng
| = D3pJRISIQ ‘b = UBYe] Sedues
e /60 006070 = anjen 314
xxx 012/6 00070 = nien [0

bs = Enjen say 2buey aing
9p = aN[eN 5oy Jamod xey
UatjeJatre] ony

826550 021
23¢500-18 NS 0008 [3poy
Jazhijeuy 1oyosty - szl ixolu]

7 d004L ¢k

{0110 £250

HATARITIRTINIT ALN 1161




_, ok
"
amedbls s, oieRd) 33@2% 5, f1e500  amadbys 5, Jojesadp m ameutls 5,40184800
0000°0  (x)nag PIS (3 S62°0 (30030 PS 18y 0000°0 (%3030 MS 1&y £981°1  (x)N8Q PIS 13y
0000°0 n3Q P 9000°s 030 i 00000 neg ps 9000°0 g ms
0180°0 abe.sany (561°0 abesany 0820°0 aheJany £850°0 gbeJany
51835 359, [0.3L03 $3836 353 (03407 §115 358 (030 53635 353] (0340
840 0o AEI3 o0 000 019 Jif 0000 Yoelg Ji 95:9) e Y219 31y
B0+L0 18070 188l [0J3u0) 20:40 %10 153] 1043003 800 183L [043u0) %5190 gp0°0 3%3L [odaue)
Qe 0on°0 LG Jig £0:00 e yeelg Jie 000 Weig Jiy £:90 0000 We1g Jiy
{0+ 18070 3s8L [03u0] 200 %0 1531 [0430) 800 153 (0430 %90 6070 1531 (0430
{0 e Ye1g Jio 240 00°0 YeR1g Jig 0000 Yeerg Jig 2590 00 Jeelg Jig
9040 1800 3%l [ode) 10540 GI'l 1531 100D 800 188) 104W0) 1590 IR TR
9040 100 elg Jig 00340 0000 Yelq Jiy 0060 elg Jiy , (e WETE Jlg
a1l N1/ 158 aul| nzb 183 Nk 388] aul| nieh 15]
{2°0018 alemyjes 12°1018 :3Jem408 270018 ~aJery j0s W [2°0018 ‘8Jemyi0s
L102/0160 L102/01/00 (102701750 L102/01/40
230800-08 S 0008 13004 23(800-08 S 1008 13p0) 21300-08 NS 0908 13004 | | 2(906-08 NS 9008 13P0M
Jazfieuy touoaly - Ja2hlixou] J32R1eUg 1040a[Y -~ JazhtIxoL] Jazhieuy 1ou0ary - Ja2hiixolu] , J3zfieuy 10UO3(Y - Ja2f] IxOu]
7 d0O¥L dHd 7 40041 ¢Hd T dO0HL chd 7 d00AL dHd
f _
,
: , 90Z°0 03 161 0 Ph €500 01 Lvo't
1012/380°0 $90 1012/302°0 /3500
y/ L10Z/01/v 1 doou] jo11ed Aemys|H epo|d 79.900-08 SEEES
A8 INYOLY3d lva ADNIDY | HIFGIANINN TVIY3S 1531 40 3dAL




